MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY : METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) v 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Windoor, Inc.
1978 Stanhome Way
Orlando, FL 32804

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Series 8000 Aluminum Sliding Glass Door with 5> Wide and 8’ High Panels

APPROVAL DOCUMENT: Drawing No. WINDOOS8]1, titled “Series 8000 SGD Large Missile 5080 Panels”,
sheets 1 through 14 of 14, prepared by Product Technology Corporation, dated 09/13/04 with revisions “A”
12/29/04, signed and sealed by Eric S. Nielsen, P.E., bearing the Miami-Dade County Product Control Approval
stamp with the Notice of Acceptance number and approval date by the Miami-Dade County Product Control
Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer’s name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence pages E-1, as well as approval document mentioned above.

The submitted documentation was reviewed by Herminio F. Gonzalez, P.E., Director, BCCO

NOA No 04-1020.03

Expiration Date: March 17,2010
Approval Date: March 17, 2005
Page 1




Windoor, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No. WINDO0081, titled “Series 8000 Pocket SGD Large Missile 5080
Panels”, sheets 1 through 14 of 14, prepared by Product Technology Corporation,
dated 09/13/04 with revision “A” 12/29/04, signed and sealed by Eric S. Nielsen, P.E.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of a sliding glass door,
prepared by National Certified Testing Laboratories, Test Report No. NCTL-210-
3040-2 dated 07/28/04, signed and sealed by Gerald J. Ferrara, P.E.

C. CALCULATIONS
1. Anchor Calculations, ASTM-E 1300, and structural analysis, prepared by Product
Technology Corporation, dated 09/13/04, signed and sealed by Eric S. Nielsen, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 03-0415.13, issued to Solutia Inc. for their “Vancea
Composites used for Lamination of Glass”, approved on 12/11/03 and expiring on
12/11/08.

F. STATEMENTS
1. Statement letter of conformance and no financial interest, dated 10/14/04, signed and
sealed by Eric Nielsen, P.E.

G. OTHER
1. Letter from the consultant stating that the product is in compliance with Florida
Building Code (FBC).

’ Herminio F. Gonzalez, P.E.
Director, Building Code Compliance Office
NOA No 04-1020.03

Expiration Date: March 17,2010
Approval Date: March 17, 2005




GENERAL NOTES: - 239.250" TESTED WIDTH -

1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND 52.250” MAX. D.L.O. - -

MANUFACTURED TO COMPLY WITH THE HVHZ (BY T @
FLORIDA BUILDING CODE. 4N 4

2) WOOD BUCK, STEEL OR WOOD FRAMING TO BE

DESIGNED AND ANCHORED TO PROPERLY < <« 7 /
TRANSFER ALL LOADS TO STRUCTURE, BUCK OR 7
FRAMING IS RESPONSIBILITY OF ARCHITECT OF o 7 7 7 S

RECORD. © e - S 50"

3) PRODUCTS ARE APPROVED FOR USE WHERE LARGE T /FYE BOR (Tow AN ) (3
MISSILE IMPACT RESISTANCE IS REQUIRED. IMPACT o % v o v[I\Z/ x v[[[\Z g x vif\& Xx vl|\Z/
PROTECTIVE SYSTEM IS NOT REQUIRED. L :

4) SEE DESIGN PRESSURE TABLE AND APPROVED % y = p I
CONFIGURATION TABLE SHEET 1. = -" N \

. ) % Y VA 7%
> 00
| = !
APPROVED CONFIGURATION TABLE @
2 _TRACK]XO, OX, XX, OXO, OXXO, XXXX, PX, XP, PXX, PXXP, PXXXXP WEEP HOLES
S _TRACKIXXX, OXX, XXO, OXXX, XXXO, XXXXXX, OXXXXO, OXXXXXXO, PXXX, XXXP, PXXXXXXP| ~ 8000 OXXX SLIDING GLASS DOOR 2 TRACK 1 3/167 TYP.
4 TRACKIXXXX, OXXX, XXXO, XXXXXXXX, OXXXXXXO, PXXXX, XXXXP, PXXXXXXXXP BOR™ PANEL (FIXED) = 61 5/16” X 94 5/16

"EI” PANEL (ACTIVE)
"Al” PANEL (ACTIVE)
"BO” PANEL (ACTIVE)

= 62 1/16” X 94 5/16”
= 61 5/16” X 94 5/16”
= 61 5/16” X 94 5/16"

» DESIGN PRESSURE TABLE
PANEL SIZES 1 1/2" SILL RISER|2 1/4” SILL RISER 3" SILL RISER 3 1/2" SILL RISER 4" SILL RISER
ALL 6’8" HIGH PANELS +40/-120 +60/-120 +80/-120 +100/-120 +120/-120
42" X 96" OR LESS +40/-120 +60/-120 +80/—120 +100/-120 +120/-120
42-1/8" T0 48" X 96" +40/-115 +60/-115 +80/-115 +100/-115 +115/-115
48-1/8" T0 60" X 96" +40/-100 +60/-100 +80/-100 +100/—100 +100/-100

TABLE OF CONTENTS

SHEET SHEET DESCRIPTION

ELEVATION & GENERAL NOTES

ELEVATION & GENERAL NOTES

ANCHORING DETAILS

2 TRACK VERTICAL CROSS SECTIONS

4 TRACK VERTICAL CROSS SECTIONS

2 TRACK HORIZONTAL CROSS SECTIONS

3 TRACK HORIZONTAL CROSS SECTIONS

1
2
3
4
5 3 TRACK VERTICAL CROSS SECTIONS
6
7
8
9

4 TRACK HORIZONTAL CROSS SECTIONS

2, 3 & 4 TRACK HORIZONTAL CROSS SECTIONS

GLAZING DETAILS

12 BILL OF MATERIAL

13 COMPONENTS

COMPONENTS

{

Product Technology

b;r Dade letter dated 12/03/04

12/29/04] DRL

SYM REVISION

DATE |BY

Ca
Eric S. Nielsen
Florida P. E. No.

1150 Louisiuna Ave., Suite 6
Winter Park, Florida 32789
FBPE Certificate of Authorization NO. B6B1
* 1 )

Approved as complyisg with the:
Florida Buiding

WINDOOR, INC.
1978 STANHOME WAY, ORLANDO, FL 32804

TME SERIES 8000 SGD LARGE MISSILE 5080 PANELS
ELEVATION AND GENERAL NOTES .

PREPARED BY:

41323
Corporation -
Product Technology Corporation

~—re

DATE:

09/13/04

DRN: DRL

CALE: DWG. NO:
N.T.S. WINDOOS81

REV:

Phone 407.622.6334

Fax 407.622.6335 A

SHEET:
1 OF 14



BDB

- 239.250” TESTED WIDTH -
o\ 52:250" MAX. DLO. ~ -
o4 D
| . <
(AAN y
4
ol . 7 7 /oo 7
~ [
PN x= = AT D' QYA R | 4 NG | P
W o s A8 /[lv © vil] \8/ x vi[\8/ = x v 8 x vii\8/
v O > ﬂ - |
& 3
7 . N
4 o i 74 o W
! S *
8000 POCKET PARTIAL ELEVATION e
2. 3 AND 4 TRACK %
- 296.310” TESTED WIDTH ' | WEEP HOLE
59 250" 8000 OXXX_ SLIDING GLASS DOOR 3 TRACK 1” X 3/16
- - T MAX. D.L.O. "D1” PANEL (FIXED) = 61 5/16” X 94 5/16 TYP.
ING @ "A1"  PANEL (ACTIVE) = 61 5/16" X 94 5/16"
"C” PANEL (ACTIVE) = 61 5/16” X 94 5/16"
< T "AOR” PANEL (ACTIVE) = 61 5/16” X 94 5/16”
g % Vi W o 7/
] ” ” ” ” Dn ” ” ”»
1 CN (7 (7 ;702" {1 /9N "AOR o
o P X vil \o/ «x vi[\&/ £ x v[[\9/ «x vil\o/
> : iﬂ
[N (@]
— 9 lying with the
2 . ‘ Approved as complyiag W
: o 7
< * NOAN,
I = Ve?
ey WINDOOR, INC.
WEEP HOLE 1978 STANHOME WAY, ORLANDO, FL 32804
_ 8000 PXXXX SLIDING GLASS DOOR 4 TRACK 1” X 3/16” TYP. T SERTS 8000 SCO LARGE MISSILE 5580 PANELS
CN” PANEL (ACTIVE) = 61 5/16” X 94 5/16 ( (2les™ ELEVATIONS AND _GENERAL NOTES
"C1” PANEL (ACTIVE) = 61 5/16” X 94 5/16” | ok N hises e | ORL ~_09/13/04
"C2” PANEL (ACTVE) = 61 5/16” X 94 5/16” [+ mresovmmm o] IOt Jectmology Corporation & [ | Cwinooos:
"AOR" PANEL (ACT|VE) = 61 5/ 1 6” X 94 5/ 1 6" SYM REVISION DATE |BY Winter Park, Florida 32789 Phone 407.622.6334 - Fax 407.622.6335 e A SHEET 2 OF 14

FBPE Certificate of Authorization NO. 8681



18” MAX. O.C. FOR 3 & 4 TRACK 18” MAX. O.C.
6" —] 13" MAX. O.C. FOR 2 TRACK 6"—
L : ¢ - — - . - . . f ' ' - f ‘ } - l | — t { ; ; ; f t ! t : : : L
: e T i
5n ///
1 S | Z % —
X X X . .
O O O O.C. . S
& = = MAX. : I
~ x 5 e 1 z
N uu I s: & | :
% e % =
8 K Ky g . :
M N AN ™M M ) /// /// /// /// ©
xr xr o
O O [ON®] QO
L Lo | I [V
OO , , . . : ; VO YO ; ; .
O O O
O. , \ O O ) \-HOOK STRIP
xZ INSTALLATION ANCHORS =X =% 187 MAX. O.C  INSTALLATION
== , (SEE NOTES 3, 4 & 5) == == | (SEE NOTE 6)
2 %n 18” MAX. 0.C. FOR 3 & 4 TRACK iy g
= = 13” MAX. 0.C. FOR 2 TRACK — = e
6" —] |
SERIES 8000 OXXX REINFORCED SLIDING GLASS DOOR SERIES 8000 PXXXX REINFORCED SLIDING GLASS DOOR
SEE NOTES THIS SHEET - SEE NOTES THIS SHEET
INSTALLATION NOTES:
1) SHIM AS REQUIRED AT EACH SET OF INSTALLATION ANCHORS USING LOAD BEARING SHIMS. MAXIMUM

ALLOWABLE SHIM STACK TO BE 1/4”. USE SHIMS WHERE SPACE GREATER THAN 1/16" IS PRESENT.
2) ANCHORS REQUIRED AT EACH ANCHOR LOCATION SHOWN ARE AS FOLLOWS: FOR 2 TRACK

FRAME, TWO (2) ANCHORS; FOR 3 TRACK FRAME, THREE (3) ANCHORS; FOR 4 TRACK

FRAME, FOUR (4) ANCHORS.
3) CONCRETE OR MASONRY SUBSTRATE WHERE ONE BY, NON—STRUCTRUAL, WOOD BUCKING

IS EMPLOYED, USE 1/4" DIAMETER. RAWL TAPPER CONCRETE SCREW

ANCHORS OF SUFFICIENT LENGTH TO ACHIEVE MINIMUM OF 1 1/4" INTO CONCRETE OR MASONRY.
4) WOOD FRAME SUBSTRATE, USE #12 WOOD SCREWS OF SUFFICIENT LENGTH TO

ACHIEVE MINIMUM EMBEDMENT OF 1 1/2" INTO WOOD FRAMING.
5) STEEL STUD SUBSTRATE, USE 1/4" TAPPING SHEET METAL SCREWS OF SUFFICIENT LENGTH

TO PENETRATE BEYOND THE STEEL FRAMING A MINIMUM OF THREE

PITCHES OF THREAD.

6) HOOK STRIP ANCHOR SPACING 5.7” 0.C. MAXIMUM

A |Per Dade letter dated 12/03/04

12/29/04}

SYM REVISION

DATE

FBPE Certificate of Authorization NO. 8681

WINDOOR, INC.
Zg 1978 STANHOME WAY, ORLANDO, FL 32804
N TME:SFRIES 8000 SGD LARGE MISSILE 5080 PANELS
[ o5 ANCHORING DETAILS
Florida P, E. No.. 41323 o ™ DR 09/13/04
Florida P. E. No. i
Product Technology Corporation r" [SCALE: NT.S DWG. NO‘WIND0081
1150 Louisicna Ave., Suite 6 Product Technology Corporation - coro -
Winter Park, Florida 32789 REV: SHEET:
Phone 407.622.6334 Fax 407.622.6335 A 3 OF 14



CONCRETE
OR MASONRY SHIM AS REQ'D (SEE - g\évOOTBI—TERFgAMlNG

BY OTHERS @ NOTES ON SHEET 3)
_ 1EM1BESIAEM|N. ONE BY WOOD 70
NT BUCK BY OTHERS
: ! & - A 4 * \

A A X A :
4 A 4 ,
.\ A F 3
s ¢ 1 1/2" MIN.
7

A
4 y A
‘N A
4 4 R} a
A

N
N
~
N
Ny ¢ 4
N

4 4

_ —— 20 GA. TWO BY EMBEDMENT
R |— STEEL FRAMING |

L BY OTHERS
- 1/4" MAX. : [J L J (SEE NOTES ON VI —
SHIM SPACE SHEET 3) (SEE NOTE 5 '
SHIM SPACE
@/ BN SHEET 3) ®/

./ Mi\.\ EXTERIOR
@ / SHIM AS REQ'D

EXTERIOR @/__ /(SEE NOTES /\
SEE

. ON SHEET 3)
SECTION B GLAZING DETAILS

/
— (47
[ | \® SHEET 10 @
SECTION D @

174" Max.— Lo

FIXED SHIM SPACE
PA,NE

EXTERIOR T ’T

- WINDOOR, INC.
1978 STANHOME WAY, ORLANDO, FL 32804

1 1/4" MIN,
EMBEDMENT TMESERIES 8000 SGD LARGE MISSILE 5080 PANELS
' 3 CONCRETE e \1'2'1 : 2PR'IE'PI':’RAE\£JBI§: VERTICAIBRN(::ROSS SECD'I;TIEC:)NS
! SECTION A SY OTHERS pritte B € N hroas, —y 7 =l R e 130
@ = A |Per Dade lstter dated 12/03/04 12/29/04] DRL 1150 Louisiana %J?ﬂﬁ{g o Procuct Tecnnology hﬂ N.T.S. WINDOO81
SYM REVISION DATE | BY Fapgwémfricftﬂr%} :i?p:l?-;uﬁoizzggasa1 Phone 407.622.6334 Fax 407.622.6335 o A ST 4 OF 14




CONCRETE
OR MASONRY
BY OTHERS

WOOD FRAMING

BY OTHERS SHIM AS REQD

(SEE NOTES ON

, SHEET 3
1 1/4” MIN. 70 EET 3)

[ EMBEDMENT

ONE BY WOOD
BUCK BY OTHERS 20 GA. TWO BY

A

[~

ST

A
)

I__’_‘

. _\: . *
T STEEL FRAMING WEMWB/E2D"ME/',1|'\T’-
SHIM AS REQ'D 57 OTHERS ; B
N O~ (SEE NOTES ON (SEE NOTE 5 — 11— —
, Jkg SHEET 3) ON SHEET 3) 174" wax. L__e J
L 1747 MAX. £ 2B " SHIM SPACE Il |
SHIM SPACE = | L

!

1 /4" MAX. J
SHIM SPACE

@@

EXTERIOR

SECTION K

| L
J = \ SECTION M
2 SHIM AS REQ'D

(SEE NOTES ON

\@ SHEET 3)
Ot %
EXTERIOR @\1 - @

@E—

SECTION L

pproved 88 complying with the

MO0

o
oo

4, _—CONCRETE ——
| u = Ul 7 8 oTers < (A /) WINDOOR, INC,
1 . . - . . 4 S 1978 STANHOME WAY, ORLANDO, FL 32804
1 1/4" MIN, 44 6.4 Y4 . ,
. ) 4 a8 . -4 4 TME SERIES 8000 SGD LARGE MISSILE 5080 PANELS
EMBEDMENT 4 4N -4 : 4
[5g I 4 ( (e fos 3 TRACK VERTICAL CROSS SECTIONS
? Eric S. Nielser PREPARED BY: DRN: DATE:
Florida P. E. No. 41323 A —— | ORL oG »40:09/13/04
@ SECTION P T ——ryrY ] Figtuct Tectnology Corperation "N & ~ wiooosy
SYM REVISION DATE | BY FBPEwtl:':ft?;lczgrz; /il?r:;?igagio?\zzg.gssm Phone 407.622.6334 Fax 407.622.6335 " 5 OF 14



20 GA. TWO BY STEEL (SEE NOTE 5
CONCRETE OR FRAMING BY OTHERS ON SHEET 3)
MASONRY
BY OTHERS
59 1/4" MAX.
[ SHIM SPACE
: N . o ‘l q Q Q J . | f
woogNgug; -:;,'4 A - 7. < A 1 1/4" MIN. SHIM AS REQUIRED !2 : L d b o
3Y OTHERS -1 EMBEDMENT (SEE NOTES ON SHEET 3) \@
N T L
/r‘ = : | 3 1/4,, MAX.J @ @ m\@
bd b4 ki | SHM SPACE EXTERIOR 1
SHIM AS = i @
REQUIRED \@ ’——‘
(SEE NOTES @ @@
ON SHEET 3) (61 [l ]\@ SECTION U
EXTERIOR @/ ———‘ SHIM AS REQUIRED WOOD FRAMING
‘ @@ (SEE NOTES ON SHEET 3) 70 BY OTHERS
SECTION T . J
' T 172" MIN.
MOVING N ‘ L EMBEDMENT
PANEL 6768 1/4” MAX J | — o | ' 1
(19) SHIM SPACE .
EXTERIOR > \@
- @ J IEEERE @
11 /@ EXTERIOR
46 n
! 73 |
IIIIIIIIIIIII yd - —|— \/
2T > > T 1/4" MIN. SECTION
\ v N  EMBEDMENT , - WINDOOR, INC.
< =\ < v £ 1 ( / 1978 STANHOME WAY, ORLANDO, FL 32804
2 ‘ TMESERIES 8000 SGD LARGE MISSILE 5080 PANELS
/ ((2(oc 4 TRACK VERTICAL CROSS SECTIONS
CONCRETE 69)  SECTION S B s, Nlen FREFARED B, R ™™ oa/13/08
BY OTHERS A |Per Dade letter doted 12/03/04 12/29/04] DRL P;?%%CtLJ:i‘;?;::io%,ﬁo?ﬁ{:ﬁgn 5 ! Lc - S N.T.S. e NO:W|NDOOB1
ST REVISION DATE | BY Fspgwéﬁgczg”;} ,fﬂf{iﬂ?otioizzg? 8681 [} Phone 407.622.6334 Fax 407.622.6335 e A SHEET 6 OF 14




1/2" MIN.—/

TD@

EMBEDMENT

WOOD
FRAMING

1/4" MAX. SHIM

BY OTHERS N

70

SHIM AS
REQ'D. (SEE
NOTES ON

SHEET 3)

@ @

SECTION E

SHIM AS REQ'D

—{=—1/4" MAX,

SHIM SPACE

(SEE NOTE 5
ON SHEET 3)

20 GA. TWO

(SEE NOTES
ON SHEET 3)
[

BY STEEL

FRAMING BY
OTHERS

i
|
=S

EXTERIOR

SECTION F

SPACE

SEE GLAZING
DETAIL
SHEET 10

SECTION H

REINFORCED DOORS

EACH PANEL HAS COPED & BUTTED CORNERS.
EACH CORNER IS FASTENED TOGETHER WITH

1/4” MAX.—

SHIM

—

SPACE

= ﬂ“

Zloe

EXTERIOR

SECTION |

PANEL CONSTRUCTION

TWO #10 X 1 1/4 SS PAN HEAD SCREWS.

Per Dade Istter dated 12/03/04

12/29/04

DRL

SYM

REVISION DATE

BY

—~

L ylos
Eric S. N|e|sen
Florida P. E. No. 41323
Product Technology Corporation
1150 Louisiona Ave., Suite 6
Winter Park, Floride 32789
FBPE Certificote of Authorization NO. 8681

q

£

S, 189
y

-1 1/4” MIN.
EMBEDMENT

CONCRETE OR
MASONRY BY
OTHERS

ONE BY WOOD
BUCK /
BY OTHERS

SHIM AS REQ'D.
(SEE NOTES
SECTION G ON SHEET 3)

Apprmeduumpm‘l"mm
Dae O
bt Coatiod
By 4 "
WINDOOR. INC.

1978 STANHOME WAY, ORLANDO, FL 32804

TME SERIES 8000 SGD LARGE MISSILE 5080 PANELS
2 TRACK HORIZONTAL CROSS SECTIONS

PREPARED BY:
AR AT

/.~ N &

Product Technology Carporation

Phone 407.622.6334

Fax 407.622.6335

DRL 09/13/04

CALE:
N.T.S.

NO:
WINDOOB1

REV:

SHEET:
A 7 OF 14




1 1/2” MIN.

EMBEDMENT

WOOD
FRAMING
BY OTHERS

70

- 1/4" MAX. SHIM SPACE

/1/47) MAX.—

SHIM SPACE ||

-1 1/4" MIN.
EMBEDMENT

/—CONCRETE OR
MASONRY BY
OTHERS

\

SHIM AS
REQ'D. (SEE
NOTES ON  SECTION
SHEET 3)
SHIM AS REQ’D
(SEE NOTES
ON SHEET 3)
(SEE NOTE 5
ON SHEET 3)

20 GA. TWO—__|

BY STEEL
FRAMING BY
OTHERS

FBPE Certificate of uthorizution NO. 8681

E _ zg) U4) (34 55
| \ o (48) 58
=L G
EXTERIOR 57 58 )/ = ——
ONE BY
29 EXT=RIOR @ - WOOD BUCK
34 12 (67)68) (a7 BY OTHERS
SECTION Q - @
" EXTERIOR | SHIM AS REQ'D.
SECTION R (SEE NOTES
SECTION P ON SHEET 3)
—{}=—1/4" MAX.
SHIM SPACE
47 PANEL CONSTRUCTION
EACH PANEL HAS COPED & BUTTED CORNERS.
6 FACH CORNER IS FASTENED TOGETHER WITH
18 TWO #10 X 1 1/4 SS PAN HEAD SCREWS.
-|
67 \68
23 15 ey e
< WINDOOR. INC.
/ % 1978 STANHOME WAY, ORLANDO, FL 32804
EXTERIOR | \ TME SERIES 8000 SGD LARGE MISSILE 5080 PANELS
l{2ylo 3 TRACK _HORIZONTAL CROSS SECTIONS
: | F!orid!;::ri%.s'E.Nriq%?e:ﬁszs. A——_— CALE DRL DWG' No_09/ 13/04
SECTION_O A |Per Dode Letter dated 12/03/04 12/20/04] DRL Pﬁ%lcj)CtLgﬁii?::;o%e(_:,o?lﬁ;:tlgn 56 5 &n " N.T.S. " WINDOO81
STM REVISION DATE | BY e T R oo Phone 407.622.6334 = Fax 407.622.6335 e A ST 8 OF 14




1

WOOD FRAMING
BY OTHERS

1 1/4” MIN;
EMBEDMENT

EMBEDMENT

CONCRETE
OR MASONRY
BY OTHERS

=) (SEE NOTE 6
ON SHEET 3)

X

1/4” MINA

A
- -a
A

SECTION W

SECTION Z

l li ////////
@@ __

EXTERIOR 34

SECTION Y

20 GA, TWO
BY STEEL FRAMING
BY OTHERS

(SEE NOTE 5
ON SHEET 3)

(SEE NOTE 6

ON SHEET 3)
SECTION AA

14 74

A |Per Dade letter dated 12/03/04 12/28/04] DRL

SYM REVISION DATE |BY

< V

{ T24(es
Eric S. Nielsen
Florida P. E. No. 41323
Product Techriology Corporation
1150 Llouisiana Ave., Suite 6
Winter Fark, Florida 32789
FBPE Certiflcate of Authorization NO. 8681

5

1 1/2” MIN.
EMBEDMENT

47) (36

EXTERIOR

52

SECTION X

70

WOOD
FRAMING
BY OTHERS

SHIM AS
REQUIRED

(SEE NOTES
ON SHEET 3)

PANEL CONSTRUCTION

WINDOOR.
1978 STANHOME WAY, ORLANDO, FL 32804

FACH PANEL HAS COPED & BUTTED CORNERS.
FACH CORNER IS FASTENED TOGETHER WITH

TWO #10 X 1 1/4 SS PAN HEAD SCREWS.

INC.

e SERIES 8000 SGD LARGE MISSILE 5080 PANELS

4 TRACK HORIZONTAL CROSS SECTIONS
ORN: |

PREPARED BY:
y v

V od 4 =

Product Technology Corporation

DATE:

DRL 09/13/04

DWG. NO:
WINDOOS1

Phone 407.622.6334

Fax 407.622.6335

SHEET:

9 OF 14



11/2” MIN.
EMBEDMENT

WOOD
FRAMING
BY OTHERS

70

SHIM AS
REQ'D. (SEE
NOTES ON
SHEET 3)

f5

=
o

EXTERIOR

SECTION BB

22

1 1/4” MIN——=| |~
EMBEDMENT ,
L 1/47 MAX.
SHIM SPACE
CONCRETE OR "1
MASONRY BY
OTHERS

ONE BY
WOOD BUCK
BY OTHERS

SHIM AS REQ'D.
(SEE NOTES
ON SHEET 3)

22

—®

EXTERIOR

SECTION CC

WOOD
FRAMING
BY OTHERS

;

71
SEE NOTE 5 22

SHEET 3 3

SHIM AS
REQUIRED EXTERIOR

(SEE NOTES
ON SHEET 3)

SECTION DD

FRAME ASSEMBLY
EACH FRAME HAS NOTCHED AND BUTTED CORNERS.
EACH CORNER IS FASTENED TOGETHER AS FOLLOWS:

TWO #10 X 1 1/4 SS PAN HEAD SCREWS ON THE 2 AND 3 TRACK.
THREE #10 X 1 1/4 SS PAN HEAD SCREWS ON THE 4 TRACK.

appioied a3 complyiag with the
Florid C

Date

NOA#

5
S AR

s

Per Dade letter dated 12/03/04

SYM

REVISION

S”‘ .- ' WINDOOR. INC.
‘ 1978 STANHOME WAY, ORLANDO, FL 32804
‘ TME: SERIES 8000 SGD LARGE MISSILE 5080 PANELS
\(7}6 o5 2, 3 & 4 TRACK HORIZONTAL CROSS SECTIONS
Eric S. Nielsen PREPARED BY: DRN: R DATE: 09/13/04
Florida P. E. No. 41323 A —— | DRL —
o] 15 s e S 6 ﬂc 5 wﬁ N.T.S. WINDOOB
Winter Park, Florida 32789 REV: SHEET:
DATE |BY B rBpe Certificate of Authorizotion NO. 8681 J Phons 407.622.633¢ Fax 407.622.6335 A 10 OF 14




!

1" GLASS BITE

|

9/16" IMPACT GLASS O.A.
CONSISTING OF:
1/4" HEAT STRENGTHENED;
0.075 VANCEVA;
1/4" HEAT STRENGTHENED

GLAZING TYPE A

!

~—— 68
EXTERIOR

GLAZING TYPE B

73

RAE

Eric S. Nielsen

Florida P. E. No. 41323

Per Dade lstter dated 12/03/04

12/29/04

Product Technclogy Corporation
DRL 1150 Louisiana Ave., Suite 6

SYM

REVISION

DATE

BY Winter Park, Florida 32789
FBPE Certificate of Authorization NO. 8681

1" GLASS BITE

— 1" INSULATING GLASS O.A.
CONSISTING OF:

7/16” TEMPERED;
0.075 VANCEVA

(INSIDE LITE)
3/8” AIR SPACE;
3/16” TEMPERED
(OUTSIDE LITE)

Approved as complying with tke

~ WINDOOR, INC.
1978 STANHOME WAY, ORLANDO, FL 32804

T SERIES 8000 SGD LARGE MISSILE 5080 PANELS
GLAZING DETAILS

PREPARED BY: FRN: DRL DAIE: 09/1 3/04
r ' CALE: DWG. NO:
Product Technology %rqﬁon - N.T.S. SHEEXWNDOOB‘]
Phone 407.622.6334 Fax 407.622.6335 A 11 OF 14




BILL OF MATERIALS

BILL OF MATERIALS

MFG

NO. PART NO. DESCRIPTION MATERIAL MFG NO. PART NO. DESCRIPTION
1 |FS-01846 |2 TRACK FRAME HEAD WS/NS EXTRUDED ALUM. A6063-]KEYMARK 40 FRAME ASSEMBLY SCREWS #10 X 1 1/4" PH F SS
2 |FS-01845 |2 TRACK FRAME JAMB WS/NS EXTRUDED ALUM. A6063-1KEYMARK 41 STLL ASSEMBLY SCREWS #8 X 1/4" PH F_SS
3 FS-01884 {2 TRACK SILL PAN WS/NS EXTRUDED ALUM. A6063-1KEYMARK 42 ROLLER INSTALLATION SCREWS #8 X 5/8° PH F 5SS
4 FS-01885 |2 TRACK INSERT WS = TRUDED ALUM . AG063-TKEYMARK 43 PANEL ASSEMBLY SCREWS #10 X 1 1/4" F SS ]
5 FS-02180 {3 TRACK FRAME HEAD EXTRUDED ALUM- A6063-1KEYMARK e SCREEN ASSEMBLY SCREWS #8 X 5/87 PH TYPE
. - 45 ROLLER INSTALLATION SCREWS #8 X 3/4" TYPE F
6 FS-02181 |3 TRACK FRAME JAMB EXTRUDED ALUM. A6063-1KEYMARK 46 |BF04122-1 WEEP HOLE BAFFLES
7 FS-02182 |3 TRACK SILL PAN EXTRUDED ALUM. A6063-1KEYMARK 47 |TP870 IMPACT GLASS STOP VINYL
8 FS-02183 |3 TRACK INSERT EXTRUDED ALUM. A6063-1KEYMARK 48 11414 OLYMPUS HANDLE SET
9 FS-02071 |4 TRACK FRAME HEAD EXTRUDED ALUM. A6063-1KEYMARK 49 11988-9000 TANDEM ROLLERS ]
10 |FS-02070 |4 TRACK FRAME JAMB EXTRUDED ALUM. A6063-7KEYMARK 50 |TP876 INTERLOCK BUMPER
11 |FS-02069 |4 TRACK SILL PAN EXTRUDED ALUM. A6063-]KEYMARK 51 |W33351NK00Q TOP/BOTTOM RAIL FINSEAL .187 x .350 .
12 FS-02184 |4 TRACK INSERT EXTRUDED ALUM. A6063-1KEYMARK gg wggiémiooo agﬁmiﬁggglsémig; )'(18‘7103 220
12 Enzggigi TOP RAIL/BOTTOM RAIL EXTRUDED ALUM. A6063—:KEYMARK 24 TW13131NK WEATHERSTRIPING 187 x .130
INTERLOCK EXTRUDED ALUM. A6063-1KEYMARK 55 V9988 GLAZING TAPE 1/4" x 3/8"
15 |FH-01871 |LOCK STILE/PLAIN STILE EXTRUDED ALUM. A6063-7KEYMARK 56 |NRAHP PANEL HEIGHT ADJUSTMENT HOLE PLUGS
16 |FH-02165 |FEMALE BUTT STILE EXTRUDED ALUM. A6063-1KEYMARK 57 |2468 DUAL POINT MORTISE LOCK
17 FH-01877 19/16" HORIZONTAL GLASS STOPS {EXTRUDED ALUM. A6063-]1KEYMARK 58 12470 MORTISE LOCK THUMB TURN
18 |FH-01878 |9/16" VERTICAL GLASS STOPS EXTRUDED ALUM. A6063-7KEYMARK 59 |SGD-205-CH LOCK & KEEPER
19 |FS-02644 |ROLLER BACK UP EXTRUDED ALUM. A6063-]KEYMARK 60 PCT 300 WHYC HANDLE
20 |FS-01882 |FRAME HEAD INSERT EXTRUDED ALUM. A6063-7KEYMARK 61 |NPG NYLON PANEL GUIDE
21 |FS-02210 |FRAME HEAD COVER EXTRUDED ALUM. A6063-7KEYMARK gg ;;SX??—O%SS"N IF:(J?II;:;EZLASS SCREEN MESH
T e o M 00 | |6 o s e i
LUM. A6063-1KEYMARK 65 |SIKA 552 SEALANT
24 |FS-02208 [SILL COVER EXTRUDED ALUM. A6063-1KEYMARK 66 |NSB 3/16-3/4-2 |GLASS SETTING BLOCKS
25 |FH-02813 |3" SILL RISER ADD ON EXTRUDED ALUM. A6063-7KEYMARK 467 9/16" OA CLEAR HS GLASS: 0.075 VANCEVA
26 |FS-02209 |SCREEN INTERLOCK ADAPTER SWEEREXTRUDED ALUM. A6063-1KEYMARK COMPOSITE VS0Z2 INTERLAYER
27 |FH-02395 [SCREEN STILE EXTRUDED ALUM. A6063-1KEYMARK 1" OA I. TEMP. GLASS: 7/16" TEMP.; 0.075"
28 |FS-02650 |SCREEN ASTRAGAL EXTRUDED ALUM. A6063-1KEYMARK 68 VANCEVA COMPOSITE VSO02 INTERLAYER; 3/8" AIR
29 |FH-02300 |SCREEN TOP RAIL/BOTTOM RAIL |EXTRUDED ALUM. A6063-1KEYMARK &5 ipst’ 3/16 TEWP.
30  |FS-02629 |1 1/2" SILL RISER EXTRUDED ALUM. A6063-71KEYMARK 70 #{2 WB(I)‘D"SEQE\‘;J TAPPER
31 |FH-02625 |2 1/4" SILL RISER EXTRUDED ALUM. A6063-1KEYMARK 71 1/4" SELF TAPPING SHEET METAL SCREW
32 FH-02626 |3 1/2" SILL RISER EXTRUDED ALUM. A6063-7KEYMARK 72 #8 X 1/4" PH MACHINE SCREW
33 FH-02939 {4 1/4" SILL RISER EXTRUDED ALUM. A6063-7KEYMARK 73 SILICONE CAULK
34 |FH-02641 |ALUMINUM REINFORCEMENT BAR EXTRUDED ALUM. A6063-7KEYMARK 74 .750" HIGH X 1.50" X 2.25" DUAL FINNED DUST PAD
35 |FH-01879 |1" HORIZONTAL GLASS STOP EXTRUDED ALUM. A6063-1KEYMARK
36 |FS-01880 |1" VERTICAL GLASS STOP EXTRUDED ALUM. A6063-]KEYMARK
37 |FS-02301 |POCKET DOOR HOOK STRIP BASE |EXTRUDED ALUM. A6063-]KEYMARK
38 FS-02172 |POCKET DOOR HOOK STRIP BASE COVER|EXTRUDED ALUM. A6063-1KEYMARK
39 |FS-02173 |POCKET DOOR HOOK STRIP EXTRUDED ALUM. A6063-1KEYMARK
7 @ J WINDOOR, INC.
/ 1978 STANHOME WAY, ORLANDO, FL 32804
TIE  SERIES 8000 SGD LARGE MISSILE 5080 PANELS
Eric S.l r/w‘,i%al\sfe{l'\or —PR-E:ARED B"{—: - OFDM:A\T::D'Z“LA\LS DATE: 09/13/04
ProgL%ngefﬁnE‘.oNo.(‘:njzozrztion r" SCALE: DWG. NO:
A [Per Dade letter dated 12/03/04 12/29/04) DRL 1150 Lc;uisiam; %e" spuite 6 Product Technology Gorporation : N.T.S. : WINDOOS81
SYM REVISION DATE |BY FBPEWér;E:iczzrl;; ngﬁgatij\zz&ggsm Phons 407.622.6334 Fax 407.622.6335 - A SHEET 12 OF 14




TWO TRACK FRAME HEAD WS/NS
TYP. WALL THICKNESS 0.075

6.060
i | L5

T T 1]

TWO TRACK FRAME JAMB WS/NS
TYP. WALL THICKNESS 0.075

J_I<—5.890——>|

N n I3) \ljll

TWO TRACK SILL PAN WS/NS
TYP. WALL THICKNESS 0.080

\

6.550 |

1.250
1

e

U

TWO TRACK SILL INSERT WS
TYP. WALL THICKNESS 0.075

3 TRACK FRAME HEAD
TYP. WALL THICKNESS 0.075

®

INEEElC

1.250 U
5 TRACK FRAME JAMB
TYP. WALL THICKNESS 0.075

i
el Lo

| ——6.800 b

@

LL—JHL—L—JM‘—JH

3 TRACK FRAME SILL PAN
TYP. WALL THICKNESS 0.080

1.250

=

7.475

t———5.775
L S ST o.s52
3 TRACK FRAME SILL INSERT

E TYP. WALL THICKNESS 0.075

WA W ML 0.851
—6.707—

4 TRACK FRAME HEAD
TYP. WALL THICKNESS 0.075

AN

C U ] u U L=

9.345

‘ 4 TRACK FRAME JAMB @ 4 TRACK FRAME SILL PAN
| TYP. WALL THICKNESS 0.075 TYP. WALL THICKNESS 0.080
— T j $
I 1.250
1'7|50 | O I _J| 1250 | o Jl_m [ _u JILF___ILLJ_‘
3] ey I —rev C © _ 1 l T o f
9.175 ! | 9.850

B

4 TRACK FRAME SILL INSERT
TYP. WALL THICKNESS 0.075

RAIL TYP. WALL
THICKNESS 0.080

PANEL TOP & BOTTOM

PANEL INTERLOCK TYP.
WALL THICKNESS 0.080

i(:;.soo——

PANEL LOCK/PLAIN STILE
TYP. WALL THICKNESS 0.080

N_ﬂ”l(%] [ WL 0.852 = }-—3.5oo—>|
‘ \—— 1 .5*70 ) -
L~y 2.299
| 9.082 E 1 750 Appm mplyiﬂg with the
| l~—3.500 = ! . bee 03113/05
‘ FEMALE BUTT STILE e ‘
TYP. WALL THICKNESS 0.080 E ~
— ;, ,/7 / / WINDOOR, [INC.
4.125 ‘\ " 1978 STANHOME WAY, ORLANDO, FL 32804
< : mme: SERIES 8000 SGD LARGE MISSILE 5080 PANELS
Eric S. \N(iZTsZr{Osr FREFARED BY: COMP%E'ENT;?L P 09/13/0
L Florida P. E. No. 41323 F—_— o T, /13/04
A |Per Dade letter dated 12/03/04 12/29 /04| DRL Fﬁ%‘é“;_;Sﬁ,-?é‘:f%e?%plﬁ{gt'g" Product Tx& hﬂ : N.T.S. WINDOOS81
4.450 l SYM REVISION DATE |BY Winter Park, Florida 32789 Phone 407.622.6334 Fax 407.622.6335 - A SHEET 13 OF 14

FBPE Certificate of Authorizotion NO. 8681




9/16” VERTICAL @ 9/16" HORIZONTAL @ ROLL BACKUP @ FRAME HEAD INSERT @ FRAME HEAD COVER FRAME JAMB INSERT
GLASS STOP GLASS STOP TYP. WALL TYP. WALL TYP. WALL TYP. WALL
THICKNESS 0.175 THICKNESS 0.060 THICKNESS 0.050 THICKNESS 0.060
1.650
_j 'v —11.625 1 | 0.375 —| 1.975 |—| I
0244 &) 02444 T 450 Lu ]_H
! T 1.135 0.235 |~—+1.17o
1375 —~  |-0.850 ' 1
FRAME STILE JAMB @ FRAME SILL COVER TYP. 3” SILL RISER TYP, @ SCREEN INTERLOCK SCREEN STILE TYP. @ SCREEN ASTRAGAL
INSERT TYP. WALL WALL THICKNESS 0.050 WALL THICKNESS 0.060 ADAPTER TYP. WALL THICKNESS 0.062 TYP. WALL
THICKNESS 0.060 WALL THICKNESS 0.060 THICKNESS 0.050
2.588
-1.170 _—’ 2.025 ‘v 3.000— | i_1 46 l‘ j 1.100T——‘
0.710 [T Ros70 ) 0.810 0503 d—r 1-1447 |
] = 1.488
.
SCREEN TOP/BOTTOM 1=1/2" SILL 2—1/4" SILL RISER 3 1/2" SILL RISER 4 1/4" SILL RISER REINFORCEMENT BAR
@ RAIL TYP. WALL @ RISER TYP. WALL @ TYP. WALL @ TYP. WALL @ TYP. WALL TYP. WALL

THICKNESS 0.064

’——2'588:1
44 h)l

1.1

ey

——1.500’(
) 0.8

— ]

THICKNESS 0.060

10

THICKNESS 0.060

2.250 ]—

—

<—3.500—|

THICKNESS 0.060

THICKNESS 0.060

4.250——‘

L [ osi0

0.810

L

(0810

THICKNESS 0.250

|«2.65o—-1

AN
1.560
6

1”7 HORIZONTAL
GLASS STOP

&9
«1 ;625_1"

0.225—

1" VERTICAL
GLASS STOP

gl

0.225-

POCKET DOOR HOOK STRIP BASE
TYP. WALL THICKNESS 0.075

B ?

‘hsﬁo‘ﬂ‘

1.750

+

POCKET DOOR STRIP
HOOK BASE COVER
TYP. WALL
THICKNESS 0.075

i 0.975

'—4.500——

POCKET DOOR HOOK STRIP
TYP. WALL THICKNESS 0.080

41 650

=

- 0.831

Approved as complying with the
n. ;‘,\._‘ S OGR

Eric

Florida P.
Product Tech

A |Per Dade letter dated 12/03/04

12/29/04{ DRL

SYM

REVISION

Winter Park

DATE |BY

1150 Louisiana Ave., Suite 6

FBPE Certificate of Authorization NO. 8681

WINDOOR, INC.

1978 STANHOME WAY, ORLANDO, FL 32804

2 tles

TME  SERIES 8000 SGD LARGE MISSILE 5080 PANELS

COMPONENTS

S. Nielsen
E. No. 41323
nology Corporation

, Florida 32789

PREPARED BY:
y . 4

/N

Product Technology Corporation

DRN:
DRL

P 09/13/04

DWG. NO:

CALE:
N.T.S. WINDQOS8 1
SHEET:

REV:

Phone 407.622.6334

Fax 407.622.6335 A 14 OF 14



